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2.  cos60° x tan 60° + sin 60° = Al4FSIH?

ov: @3 ® 2 @2v2  ©2V3




3. 0°<x<90° ¥, o F &2 ALY
@ -1<cosx<0 @OSSinxsl
® 0<tanx<1 @ -2 <sinx< -1

® -1<cosx<0

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx>0
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@D 42 @ 82 (@)16«/5 @ 322  ® 482

B

V2

cos 45° =

4
L N
X 2
o Y _ _
tan 45 _A_l_l’y_4

Loxy=4V2x4=16V2
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3 ABC o4 AB = 8cm ,
cem @ o, /B o] A7=?

@)30° @ 45°
® 75°




o 183 22 AABC 94 AB = 4cm
,BC =8cm, /B=60°<Y o, AC ¢] Zo]

9

@4 V3em @ 5v3cm
® 6v3cm @ 5+2cm
® T7cm

A

s
/
4

4c

/

1

1£60°

. H -
“~-8em- 7

B >C

AH = 45sin 60°
V3

:4x7:2\/§

HC =8-BH
= 8 — 4 cos60°
=8-2=6
AC’ =AW +HC o=
AC = (2V3)2 + 62 =12+ 36 = 48
. x=4vV3(cm)
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29
@ 24cm? @ 24+2cm?

@24 V3em? @ 48cm?
® 48 V2cm?

s 7

ok

B

—_

V3

:—><12x8><?
= 24V3(cm?)

N | =N

AABC = — x AC x BC xsin(180° — 120°)




TS 1389 AABC oA AB =
12c¢cm, BC = 24cm, /B = 60° ¥
o, AC o] Zo]&?

® 10V6cm ® 11V4cm
@12\/§cm @ 13vV5cm
® 14V2cm

~&B

AABC o] ZHAH A A ABC

Y7 540 0 1 o pow ,
AABH o4 AH = 125in60° = 127
6V3 (cm)

BH = 12c0s60° = 6 (cm)
T, AAHC A
CH=BC-BH=24-6=18 (cm)
X2 =AW +CH = (6V3)? + 182 = 432
. x= V432 =12V3 (cm)
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oA T tjztAlo] o] & 1
Hol7F 8vV3cem? & W], AC 2] Zol=?

® 4cm @4\/§cm
@ 4+6cm ® 8cm

120°

® 4v3cm

~&B

=8vV3cm2o|B&2
AC=BD = xcm &} 5t

%x2><sin60°:8\/§

EXZ :8\/§
4
x2 =32

Lx=4V2 (o x>0)

Suxjttel o] £ ghzpAe] dol7t 2o
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10.

@D 40V11 @ 40V13
@ 4017 (@)40\@

® 40V15

~&B

BH = 200 X sin 60°

=200><‘/7g

=100V3
CH = 200 X cos 60°
1
= 0 —_
200 x 5
=100

. AB = (100\/5)2+2o2




